[(EE{E]

FiEICFEFERIERED - BEAK (1)
Room # % B OF¥ # % wmo® %
3 B | 9F7E | SWeE ] i HHM7E | HH6HE ] i SH7E | SF6E | # H
5AX | 5AX | # # b 5AX | 5AX | # # = 5AK | BAX |k MVt
Tl & L B 4,925 4,995 -70 -14 1,851 2277 -426 -18.7 37.6 45.6 -8.0
X E E(e! 35 25 10 400 33 21 12 57.1 943 84.0 10.3
4 A 8 1 7 700.0 9 1 8 800.0 1125 100.0 125
[ ® 5 3 2 66.7 1 3 -2 -66.7 200 100.0 -80.0
" K 1 4 -3 -75.0 3 4 -1 -25.0 300.0 100.0 200.0
TERE®XS 21 17 4 235 20 13 7 53.8 95.2 76.5 18.7
# =] (e} 349 422 -73 -17.3 298 394 -96 -24.4 85.4 93.4 -8.0
XBZERES
7 1T 224 280 -56 -20.0 211 274 -63 -23.0 94.2 97.9 -3.7
% = 103 113 -10 -8.8 71 97 -26 -26.8 68.9 85.8 -16.9
Z H 15 22 -7 -31.8 13 20 -7 -35.0 86.7 90.9 -4.2
= 8 7 7 0 0.0 3 3 0 0.0 429 429 0.0
% & E(t) 3217 3,184 33 1.0 1,110 1,533 -423 -27.6 345 48.1 -13.6
# A =B 596 500 96 19.2 90 297 -207 -69.7 15.1 59.4 -443
&Y B & 749 768 -19 -25 40 82 -42 -51.2 5.3 10.7 -54
k¥ B A B 1,872 1,916 -44 -2.3 980 1,154 -174 -15.1 52.4 60.2 -7.8
1 BE 1L 602 586 16 2.7 191 116 75 64.7 31.7 19.8 11.9
H # 565 555 10 18 168 98 70 714 297 17.7 12.0
# B 15 25 -10 -40.0 13 12 1 8.3 86.7 480 387
# & 18 5 13 260.0 10 6 4 66.7 55.6 1200 -64.4
& B 3 3 — 0.0 —
HoBAFE
= =2 1 1 0 0.0 0.0 0.0 0.0
I3} & E(e) 78 77 1 1.3 71 60 1 18.3 91.0 77.9 131
i 1% 5 5 — 4 4 — 80.0 —
FAEEDLED 26 27 -1 -3.7 17 17 0 0.0 65.4 63.0 24
BRDLED 1 5 6 120.0 9 6 3 50.0 81.8 1200 -38.2
FelAtcaml | 6 4 2 50.0 3 3 100.0 100.0 75.0 25.0
HRERE 2 1 1 100.0 1 1 100.0 100.0 100.0 0.0
EAE 3 -2 28 40 -12 -30.0 33 33 0 0.0 117.9 825 354
Z DD FEIL 644 701 -57 -8.1 148 153 -5 -33 23.0 218 1.2
SH B M 93 80 13 16.3 30 27 3 11.1 323 338 -15
DNERTHE 7 5 2 400 12 6 6 100.0 171.4 120.0 51.4
T EBE & A 86 89 -3 -34 18 31 -13 -419 209 348 -139
W OE R 1 -1|  -100.0 2 -2|  -100.0 200.0 —
BIRFSE 2 3 -1 -333 5 5 —| 2500 0.0 250.0
& & 2 2 0 0.0 5 5 0 0.0 250.0 250.0 0.0
=Y OB & 416 475 -59 -12.4 46 48 -2 -4.2 1.1 101 10
z O 38 46 -8 -174 32 34 -2 -5.9 84.2 739 10.3




[(EE{E]

TSRS R - wEWK (2)

3 & | $M7E | SH6E # SH7E | HH6E #® R SH7E | HH6E -
5AX | 5AX | A B % 5AX | 5AX | A B % 5AX | 5A%X | A B %

Tl & L B 1,188 1,321 -133| -10.1 1,079 1,156 -77 -6.7 109 165 -56| -33.9
X E E(e! 29 18 11 61.1 29 17 12 706 1 -1| -100.0

% A 9 9 — 9 9 —

[ & 1 4 -3|  -750 1 4 -3|  -750

" K 1 4 -3| =750 1 4 -3| =750

TERE®XS 18 10 8 80.0 18 9 9 1000 1 -1| -100.0
# =] E(t) 323 425  -102| -240 312 405 -93|  -230 1 20 -9| -450

XBZERES

7 17 244 310 -66| -213 235 300 -65| -21.7 9 10 -1] =100

% = 68 94 -26| -277 67 88 -21|  -239 1 6 -5/ -833

& H 9 19 -10| -526 9 17 -8|  -47.1 2 -2| -100.0

= 8 2 2 0 0.0 1 1 — 1 2 -1]  -500
% & E(t) 567 635 -68| -10.7 489 532 -43 -8.1 78 103 -25| -243

72 A =& 37 44 -7|  -159 30 41 -11|  -268 7 3 4| 1333

&Y B & 18 34 -16| -4741 1 19 -8|  -42.1 7 15 -8| -533

k¥ B A B 512 557 -45 -8.1 448 472 -24 -5.1 64 85 21| -247
b3l HE L 94 91 3 33 86 87 -1 -1.1 8 4 4| 1000

H # 76 68 8 1.8 68 64 4 6.3 8 4 4| 1000

# B 13 1 2 18.2 13 1 2 18.2

# & 5 12 -7| -583 5 12 -7| -583

& B

HoBAFE

= 53
I3} & E(e) 61 44 17 386 56 35 21 60.0 5 9 -4 -444

i 1% 4 4 — 4 4 —

FREbDLED 17 12 5 417 17 11 6 545 1 -1] -100.0

NRHLED 6 1 20.0 6 3 3| 1000 2 -2/ -100.0

blvE># 2 0 0.0 2 2 0 0.0

HRERE 2 1 1| 100.0 2 1 1| 1000

EAE 3 -2 30 24 6 25.0 25 18 7 389 5 6 -1 =167
Z DD FEIL 114 108 6 5.6 107 80 27 338 7 28 -21|  -750

SH B M 30 24 6 25.0 27 15 12 80.0 3 9 -6| -66.7

DNERTHE 10 6 4 66.7 10 6 4 66.7

T EBE & A 10 23 -13| -56.5 9 10 -1 -100 1 13 -12|  -923

W OE R 1 -1] -100.0 1 -1| -100.0

BIRFSE 4 4 — 4 4 —

& & 2 5 -3|  -60.0 1 4 -3| =750 1 1 0 0.0

=Y OB & 27 25 2 8.0 26 24 2 8.3 1 1 0 0.0

z O 31 24 7 29.2 30 20 10 50.0 1 4 -3| =750




